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INSTRUCTIONS TO CANDIDATE

Write your CENTRE CODE AND ROLL NO. legibly in the OMR ANSWER SHEET ATTACHED. Do not write your name any

where in the ANSWER SHEET.

Questions are of multiple-choice type carrying one mark each and all questions are compulsory.
Candidates are required to mark the correct choice by shading the circle completely with blue or black
ball point pen. (Pencil is not allowed). For example, if the correct answer to question no 1. Is 'B' then the
marking should be:

Wrong method 1. Correct method
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Only one circle, i.e. the correct one should be shaded and not more than one.
A candidate having completed his/her OMR ANSWER SHEET must hand it over, even if blank, to the invigila-
tor before leaving the Examination Hall.
An examinee must not bring any loose paper, book, etc. except the ADMIT CARD to the Examination Hall. Any examinee found
in possession of even loose papers will be EXPELLED.
No extra sheet will be provided for making notes or calculations. CANDIDATES MAY USE THE INNER COVER PAGES OF
THIS BOOKLET FOR THIS PURPOSE.
An examinee must not talk to, disturb or seek help from a fellow examinee during the examination.
Any mechanical or digital calculating device (calculator etc.) shall not be used by the examinee during the examination.
Mobile Phones shall not be used by candidates inside the examination Hall.
No candidate will be allowed to leave the Examination Hall during the first hour of the examination.
Contravention of any of the instruction mentioned above shall render a candidate liable for disciplinary action as per rule.
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AJMAL NATIONAL TALENT SEARCH (ANTS) EXAMINATION - 2014

A Class : H.S.
Time : 2 hours /a]" f 2 HA, Full Marks / ]P X= /8]0 XTI f (40+40+20)=100
General Studies:

1.  Which of the following partres were established by Dr. B.R Ambedkar ?

Tﬂ Tﬂ =4{F Eiv; aERXAEH0E V. Qo o) Y%c» Y;AfIVERD GPS Bk ?
Tl ={F Ej aEXV mx Qo 1] 94 Y63VEI] GRX EA[X 2
1.  The Peasants and Workers Party of India /\]§>>THA I EbEi %» X]E iV [ '\i \Q[ A[e X]E
2. AllIndia Scheduled Castes Federation [ X \ipTi %XaXJT] Lol aeH | XF \g[y | YoXawiTi LQXT | aeH
3.  The independent Labour Party /@] X X]E
Select the correct answer usrng the codes given below :
TLTONA [ Yop £71=ww [k = Clg £/ £7) =wi] 4k XC f

(A) land2only (B) 2and3only (C) 1land3only (D) 1,2and3

2. With reference to Indian History, the Members of the Constituent Assembly from the Provinces were
\(»Ti [t YatT aeiick a\eg_ i\~ Y&V™» Y»; aVal abi Ei —
\i[BTI[) +Tica Yait, aelieX a\g™ [\~ YaVE ™[ avaidV[| f
(A) directly elected by the people of those Provinces
dat YAV » LXadipdS YTIDNG[ X[dT Bk / aat YAVA[ LXaglie[lS YTRING[! /X[piTy E&[X
(B) nominated by the Indian Natronal Congress and the Muslim League
\ppTiA LeTi™ EiedGle %) 9] G Jaexim Bk / \g[[Ti LeTin EiedGa Alle Ja_(] /G Jaxxi E&[
(C) elected by the Provincial Legrslatrve Assemblres
YEVE o[ieX aN\e™ X[odT Edovke [ YV B o[ Micka\ig X [ipuiTi B[]
(D) selected by the Government fortherr expertise in constitutional matters

ae(oXE Yool Tiw [i8[) aTICA (EIED JoBih» [lhX Bk / Ye[NCTR[l LXT =XAV[ aflER] a[iak: axx
3. Subsidy means.......... [ IoEi! NTHE 16X e | a[EQ[ \ToE 16X ........

(A) payrnent by government for purchase of goods and servrces
at]Gl [ dafly Yy [l IoEi! X Yave™ W | ac]Gl [ dafly YA LXT a[IEQ[) ¥l VX YViX
(B) payment made by business enterprrses to factors of production
=AY(VX EioEi [8) [Pear™ YiTeeghX WX V™ v [ =dYVX Ex[RED LXT [A[as™ YiTieeX ¥ WX YVEX
(C) payment made by companres to shareholders
O™ WpoB AERTYOXEA Ay WX/ Yoe WALV SERTYOXT Yo VTP WX
(D) payment made by the government to business enterprises, without buying any goods and services

IoEigh» [ag™ YATeiXe  8EiaXe yin XEimiEEs Ve A WX / aIEG[ [T YoTiegXiE: SEiXe yi XGER[ AV X
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4. Observe the relationship in the series and on that basis fill in the space will question mark.
YA Wicd Y»S Eig 48T £ 1Y A[IES O] GiX o cd]) AFX f
A=D B=F C=H D=?
A 1 B) J C L (D) M

5. Economic goods are... | YUEKITES ]G

(A) all commodities that are limited in quantlty as compared to their demand (
I SOXYGT! 4 aJGly &NGX alTi / JpeVe %XYRETI &mi_p ag]GI[ &NGiX al]Ti

(B) Commodities which are evallable according to their demand
T 96XYAT) i[> ag]Gl iUl / Jipch SXYT! &'mi ¢ ag]6l \d

(C) Commodities which are avaitable more as compared to demand
JpCVTEE i ag]Gl =8NV / JipeVGURET &°mé_ ag] 6l &[T

(D) None ofthe above

CYm AUC XeA [ =Y[[| ABKC X

6. Statement: Severe drought IS reported to have set in several parts of the country

=N £ 8V > [\~ YeUT \ibS Foie %% F[» 8ol éGak / =Nb £ 8Va~ [ [\~ Yeili YIQ) F[[l P YeCPy dGak
Courses of Action : i. Government should immediately make arrangement for providlng financial assistance to those
affected.
iy YUy f InEii> TdDSENG( 147G akk ¢ ™ agey UGy, =T

a[Ei[ T dIXSE @[ NTICH aki aE i ™ a ’\| VCH -XJT

. Food, water and fodder should immediately be sent to all these areas to save the people

and cattle.
aa+ A Eif  TedIiSEi ta[ Toxc: %) YE» L3/4x o [ [yan XI %) YE FVT YaPigig =T
dami_¢ A_(Ee™ Tod ISEN[ JoXb Afe YE[ LI[X [ k[l LXi L C YERVT Y(PraXe =i
(A) Onlyifollow (B) OnIyufoIIow
i Xe YU; %Xan$ Eiwy =T i Xe YUp %6Xa»S B =T
i Xe YUi %Xa[)S Eifl =niT: i Xe YUs %Xa[)S Eif =i
(C) Eitherioriifollow (D) Bothiandiifollow
i Xe %U[i it Xe YUy %XawS Eiwg =T Va"gOg YU %XawS Eby —XJT
i Xe %U[ ii Xe YUg %Xa[lS Ei[ly =diTi i YU %6Xa[lS Eifly =T

7. Wnich i; India's highest peacetime gallantry award ?
“pUER_IX %64T \po T @l agcsaETiy Yool ¢ f / \g[ATI[) ~oUE_IX ad[[i ascxaEiTe]) Y[l ¢
(A) Param V|rChakra (B) AshokChakra (C) Kirti Chakra (D) Shouryka Chakra

Yo [ dyt £ YL dy 6 (Ei Jyl BT Jyl iai™ lyl
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The proposed National Counter Terrorism Centre (NCTC) will work as an integral part of which of the following
agencies ?

YE[T " YT allafiV adip" T » dERXa aeli ki %eG rcdidY Ei i) Enf ?

Y0p[T ""[ fin YiTi aliafv adie]" X[ 4ERX aedif) Yo[aVi %eG rcag]l EiL B[ ?

(A) Central Bureau of Investigation (CBI) (B) Intelligence Bureau (IB)
B Ao %[ +X\WEGIX B0 ALED [
aad® e %[ +Xi\irG "X H ALF0 [
(C) Research and Analysis Wing (RAW) (D) National Security Guard (NSG)
x»J‘gL Ak AX oIl =+ DB GiE=onl GO
ifarl A AX; (tiaa =+e Xie X @k Gy

Which state made Chess classes compulsory in schools to improve cognitive skills of students from this academic
year ?

At [l Yogr BB LIT Tt (V) &F_ Key-Keyl> [0 IND =wwS» [GA[) [V ATI [S0TE] i Ebsg ok 2

At KD AUAED GERX Lo "ol o _t Kay-key1[ & Ny =wiRS[ LXT Vie_" [T ] Bl ?

(A) Andhra Pradesh (B) Tamil Nadu (C) Kerala (D) Bihar

o ol Te]_XQ dEy_¢ 180 e | el

What will follow if a Money Bill is substantially amended by the Rajya Sabha ?
Al [ LT a\T) afYS\GA[l aed (X Eimd & ¢’ 2 / AN we[d_ [cLia\g aTYS\e[| aed giX Ei[&_ i cdf ?

(A) The Lok Sabha may still proceed with the Bill, accepting or not accepting the recommendations of the Rajya

Sabha
wiLia\i» (agi(iX) aYpli GeX Einn %U[ GeX XEingé (Eia\t «[| &0 Yeh Edw[) Yiio
[cLia\e[} aYp[™ GeX ER[ [k Xe E&[ &_cEia\g « 0 Y [ Y[

(B) The Lok Sabha cannot consider the Bill further
A (EiaNet ([l x[A[OX; Bl X[l / & oEia\g [ 0 x[A[9X; EI[ET Ve[ X;
©) The Lok Sabha may send the Bill to the Rajya Sabha for reconsideration
| Ea\ek [k LT a\et Yo o[A[B [IA0 YR e / & cEia\g ol [iLia\i® YXQA[G[ LXT YiPiAT! Ve[
(D) The PreS|dent may call a joint sitting to pass the Bill

VTN A Y6UA[ X SedoX i) Yib* [ [T 48U 9MA[X %X EITATI Yei[
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11.

12.

Statement : Minimum age to become a voter is 18 years while minimum age for marriage is 21 years in India.
=Np f \ T aNifleliEips» [l X [P 18 [k B (e» [6] 22 [K»
\G[AT AN T [Pa 28 K] AFX (e XN [ 21 [K{
Assumptions: (1) Atenderaged voter s decision is based on emotion, not realities.
ALX R oo 17l %a[G» CY»Ti X\ ™1 - [0 CY»Ti X!
ABILX B[ 2™kl %[iG) =Y[ o\ -[oda[p =Y[ X
(2) A married man's deC|S|on is based on reality, not emotion.
ALX et [Np> 27Ul %[lG [ILT (i CY>T o\
ABILX [[ocTi [Ny vkl %8[G LT o[ =Y[ N[
(3) Atender aged voter's decision is free from all considerations.
ALX 1B po» Xa'“g“‘ B ¢ %r\NYE™ Yog JND
ABILX € [l @il ki %Y dUSED TN
(4) A married man's maturity is based on past experience and expectations.
ALX {[ITpeT: [ip> Yin YRy 4TCo S6NpiTy %) %" CYoT) iK1
ABILX ([I[locTe [No[) Yo YT Ties[ %X\puT Afle %; o[l =Y XN
Choose the correct assumption / £71 =Wnd; [k =x Clig £/ £71 =wi[)l a[aK XC f
(A) 1,2and 3 True (B) 2,3and4 True (C) 1,3and4True (D) Alltrue

Consider the following statements : Attorney General of India can.
T_» =Npa]c ([[iX; Ewy f \p T JerYoli[Nie+
X =N [l B F NG JeroeiNngt

1.  Take partin the proceedings of the Lok Sabha 2. Be a member of a committee of the Lok Sabha
(Eia\p» EC]ECLTI %e™ GeS Eiw[) Yii A (Eia\p» EiEX B0 aval ¢[| Yii
ég a\i[| EfLER] %e" GcS EI[AT! Yea[X A (Eia\e[| &N BN aval ciTi Ye[X
3. Speaklnthe Lok Sabha 4.  Voteinthe Lok Sabha
g Ea\(T! [INGT V[ Yo i g"a\ﬂ Tl é\‘ ‘XV[' Yiiy
A (Eia\e™ [INDTe VTE Yed[IX A tEiaNe™ A\t VAT Y[

Which of the statement(s) given above is/are correct ?
CYw» dERX[1» / AERX =Np0i £7 2

(A) lonly (B) 2and4 (C) 1,2and3 (D) 1land3only
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14.

15.

Variations in the length of day time and night time from season to season are due to

@TANAV VX %] w0 3 VIH_ dcdlr EipS ¢' F / @TANAV VX Alle [y akeg=[iQi cCAY[) ExlS ¢ f

(A) the earth's rotation on its axis (B) the earth's revolution round the sun in an elliptical manner
KL % IT YAUK [Tk [ QIETNED @ JwCZin YUk Yo} ]X [6[
XL 9NA[Fe VUL %[TakD LG QRETNG] ai[ JopViEn YLD V[RTES) LY
(C) latitudinal position of the place (D) revolution of the earth on atilted axis
2 WE SIS 4P ViU dc XNy ST Y} [l
Fs FfHE SR A T YU dc: X %al Y] LY

On planet earth, most of the freshwater exists as ice caps and glaciers. Out of the remaining freshwater, the largest

proportlon

YU 400G X] YoX! [vZ0 %) ¢ [ie T Ui [4Ed XX] Tl Yy A 2

YU [ [ GX[£ L [[&zi Afle rc]{idc UgE™ [(Ei X[£ L_ aERUN UQaE .

(A) isfoundin atmosphere as moisture and clouds B) is found in freshwater lakes and rivers
[T T %V Ti %) Qi Ti Yl Q o] Yox> &V Yo XVa]cT
[7 % [J %VTi Alle 4] YiChy A i[E La_[ &V Ale XVia]ciTi

(C) exists as groundwater (D) exists as soil moisture
\-G\» YT/ \=GI YiCy A Toti S6TET: / 6l oaTien

Some Buddhist rock-cut caves are called Chaityas, while the others are called Viharas. What is the difference
between the two ?
EKJIX T EdimeiE 1T Yp! 9000 EXTHE sy [ &ty o Vi JiLT) ¥ YiUER 2
[V B B megdEl ST Alle YXT KRS «[ee[) [ ¢ o/ VWi[) TN B YRR ?
(A) Vihara |saplace of worship, while Chaitya is the dwelling place of the monks

[icpil> YUX G %) TR écdk NIliaBl » [radion® [ «[icaf) YeUXe[ @eX Alle 3T ¢ NINERV[) [iradicX
(B) Chaltya is a place ofworshlp while Vihara is the dwelling place of the monks

BITH YoUXo> X %l (e ¢ \IiaEi » [radicX / 8T YQUXG[ GeX Al «[es[l ¢ INERV] [radiX

(9] Chaltya is the stupa at the far end of the cave, while Vihara is the hall axial to it

mcg»a b \iG» YE & Tﬂl aEg%c ¢/, YeXedT! H[ice» +»  GATI U Hy

meg[) &b \iAG[ GYE! &TH | ¢ ¢, YXIVAED +[ics[) ¢ Te[| aiU Ui H[

(D) Thereis no material difference between the two

V> JoLTI [I0GTI 4EGiX; YOURR X+ / VW[l a0 [@GT) aEiiXe YOUER aX+
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The balance of payments of a country is a systematic record of : / /
Oeimgrf & XAVX =d[wr AFX &V YS ([ s i 1 U™ & XAVX =dw ABNGRVA[ YS: 1] icag[*
(A) allimportand transactlons dunng a given period normaIIy ayear

Al [T dcsdie VX! Yool Tow &VXG YGCXe Yood gl / ABR K[ ¢C %c]vix! Afie Tif) BiLER[i[a[
(B) goods exported froma country dunng a year /

Ay [Tt »SXIE ag] Gl / A [K3[) [SiXIET! ]Gl
(C) economic transaction between the government of one country to another

AFX 8Vi %X AFX 8V» _GTi Eivy O%pUEi & XiVX / AE 8VA[J asiU 987 AVA™ [ OpUEE & XAVX
(D) capital movements from one country to another

ARXCAV > Yor %X ARX A6 TLUK [OGNG | AR AV 4UIE 96K AR TIX 1[G

Disguised unemployment generally means : [ J4{[ " X%X%Q» %U écak | K[ a[ [ ¢ f-

(A) large number of peopIe remain unemployed (B) alternative employmentis not available
[8aeFiEi JoXc: Mkl & UES LB XN 90\l
Y%aeFT Joxb a[ER] ci* Uik [E”” XPNB) %\l

(9] matglnal productivity of labour is zero (D) productivity of workers is low
YUin =dYWET; X B =dYQVETE B / QE =dYVX 1T £

Many transplanted seedllngs do not grow because :
Bk T Ye > [I8ETE Yo Qel aXGicgly EiwS ¢/ [1§ XU Jifip GAL Xg =P Ex[S f
(A) the new soil does not contain favourable mlnerals
XTIX Jo0T =YANp FXL V[ 9Nk / XTIX JodT: =YANp FXL VAT %\e[
(B) most of the root halrs grip the new soil too hard
a[ NG Yx » I CYer XTIX 008 FedJell Joo T Yoan [l Yo
i [ K [ XTIX JoaE: W[l [oFaT: %aX[WU Y
(C) mostof the root halrs are lost during transplantatlon )
ADKNIG Y Bk @] TG AN/ A[TING B[R0 1 [ B[ a]” Kag A
(D) Ieaves get damaged dunng transplantatlon

YS» aYS» a]™Ti GK» YiTa[k» Xri ¢/ YXA[RYaS[ a]” Giik[) YiTeme  Xri ¢/

"Climate is extreme, rainfall is scanty and the people used to be nomadic herders."

"NTEL [N ] YN, [9bS XDty Yt Tekel %6l /L[t BT YA [ Xy Ale To Avs[["

The above statement best describes which of the foIIowmg regions ?

CYm» -><NpaA T T =8{FT) §EiX Ot x[ba" alEl [ty Eivdk: ?

=Y[I[| =Np AELX % iE a®ENG] [RFL EAfEK 2

(A) African Savannah (B) Central Asian Steppe (C) North American Praitie (D) Siberian Tundra
YopZiEir» %tu 10 A [ilieX 9630 =i W]oED 8ol W3 ke[ T
%QXZEQ[ X; 930 AN e %t =w[ Wil [E] aY+[| [l TRV
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Special women commando force raised by Ind/ia governmentis :
\ipTi JoEii> Y[TIX Eivg 3™ Je_¢ EN6RQ; [oexi> X1 £/ \[Ti B[ YITX B o[ Je_¢ EgJai [oeX] X f
(A) Virangana (B) Nirbhaya (C) Stribald (D) Naribal

Dot / [0t XAy ik il /XD

A Sattriya dance troupe from Majuli river-island performed an innovative dance drama based on the tales depicted
on Vrjndavani \(astra. Which of the following Statement(s) is/are true in this context ?
JoL_I» A aylns XTivE [y3V 3/4X [0 =5{FT) EcXl» YolioT AP XTX XTA-XOED Yomd[|™X Eiovdl* T » dEIKGDY/
dERXEEi(; =N At aﬂYE TE
JoL I AEiG ayi, XT [3V [fX [0 =3{FT) GI[ =Y[| \owr ER[ A XTAXQR Y[R E&[* XI&H[) dEcxa At
afYiE £7 7
1.  Vrindavani Vastra was woven by skilled Assamese weavers in the sixteenth century.
16 ™ “TELT XYX %]l YN A+ [M[X) 1@ 6 =x Ak
16 ° ‘XTE oYX %%a] iy [ [ A+ VELXT [t [
2.  The art was developed under the supervision of the medieval Vaishnavite saint and social reformer
Chaitanya Mahaprabhu
A+ B ]W|"G [0t agliEi Yol a](L aeeipEi ¢ T[X| JegY\» TAn3/4 y@XT i[EC™ O\ Bk
A+ B JWinGiny é[bi] a A[e ajiL aeel [ STIXE JesYN Tie[edX (B o\ ¢
3. illustrates the childhood activities ot Lord Krishna in Vrindavan o ,
[Ve[XT “{Eibl> »p By » it v [ISXe Evg écdi / [PVe[EX “VEBDI[ [ TR [ B[l [SX: Ei[l canak
4. presently pwned by the Victoria and Albert Museum in London
At [T [0 [TITX ek Yoot A_[ @eGie: ™, _toS» 9pMIXT! Yo
At [ [ [miJax Nap c A i ach A SAX] OBHX Yk
Choose the correct option: | £7] —W»&OQ [)QXK =t C%@ f | alPEi —Wﬂ[y aUaK a[[ [

(A) Only1,2 anq 3 (B) Only2,3 anq 4 <) 1,3 and’4 (D) allofthe above
Ty 1.2 %l 3 ]ty 2.3 %) 4 1,3 Yopl 4 Yoic+4Ei(y
Jiy 1.2AJe 3 Jiy 2.3 Afle 4 1,3 Al 4 a[EM

A price reduction to buyers who buy large volume is called a.....

acéEl yin Eiwy ayITiE VA dvcet T 7B O B ¢ 2 /8T By Bl SyITE: AVCA Aflce+]_TED I [1p o 2

(A) quantity discount (B) tradediscount (C) cash discount (D) wholesale discount
YioJiSGTI ancet/ [l [Map B avcet[i XGV eyt Yg+Eg» et [
VIIESGTT et/ [ [liagE afcet/ [ X6V afest/ [ R A +/ [

Today is Monday. After 61 days, it will be :
%l dac] [, 61 WX OYKTIE [i» ¢'[| 2 1 YL dac] [[* e2 WXY[| i [i[) ci[) ?
(A) Wednesday (B) Saturday (C) Tuesday (D) Thursday

N[> 1 INESL K[ 1K 1T/ 17_[l e &M / [c&TH]
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26.

27.
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In a box, there are 8 red, 7 blue and 6 green balls. One ball is picked up randomly. What is the probability that it is
neither red nor green ? , ,
Ay [GEIIT: 8 O »ly, 7 00 X1 g %l 6 O da=L i [ %k AV DeIXNE A0 [ Tow Yoy &l o 4TalI [ a0 X1 ¢
@RI FGRAT PN =] 2 , ,
ABI [ 8 ¢, 70 X Ae s 0ia[lL [ %k MV eIXNG[ AEIG [ SaFox AUSEE &XCAy ¢4, TA[ [ X
2SI AGE FOHF ?

3
(A) ® 7 € 3 (D) o7

3
The mass number of a nucleus is ............. 1 X=XZNE D> QBFTL o [ X=rzidaf) \i[| 88FT;
(A) always less than its atomic number

V™ Yoo |oSUE: aeFiTEE ] / a[Ve Yi[iS(E) aeFl aViE Ef]

(B) The sum of the number of protons and neutrons present in the nucleus

YOX Yol 1X=3'S» aeFity $4GZ) » a]X | #YQX Alfle 'W=EX[) aeFR[) &NGiZi [ a]iX

(C) always more than the atomic weight (D) Afraction
avh Y»] ST \inTEES a[XK Al \Ge™
[ Yo[eSt[Ei [ dUiE [ AEi \iGe™

The best colours for a Sun umbrella will be-
' TJ@Y» Yo ol Vil [9"3/40@» E»Q KQXT[\» » 1 4ERXER dcdly =0T ?
ai™[| TeYAVRE: [0 aYATI [ice[l Eillv Kol [l 969 W[AS[ ¢C™y =0iTi ?

(A) black ontop anq red on inside (B) black on top and white on inside
CY»TIE' ¢ %) NToow Zid »l CY»Ti Ei c%q»ﬂ Ty Zq [t
=Yi[ Eid ¢ CNTE[ ¢ =Yi[ Eid ¢ CNTE[ a;

(C) redontop and/black oninside (D) white ontop ar]d black on inside
CY»Ti »li Yool \NTiow Zig E' ¢ CY»Ti [IG; Yol NToww Z04 Ef' ¢
=Yi[ ¢ C \T&[ Eid ¢ =Yi[ aV C \Ta[) Eid

Which of the following river systems fall into Bay of Bengal ?

T T =5{0FT AEQGER XV [AtYarGoT Yoodk 2 / XIali =3{0FTi 4EX XVI & [iteYaGi[) 1Gi i 2

(A) Ganga, Brahmaputraand Godavari (B) Maha/nadi,.Krish/naand/Cauvery
GTy, [IilYy % aGg (ol JeoXVi, Eibl Yol EG[»!
GTt, [IilYy A[e G JoeXVY, Eibly Afe EGA[I[)
(9] Lun| NarmadaandTaptl (D) Both (a) and (b)
SI, XIVs %ol TeS 1 SI, XTVe Afe TS @) %l (o) VN / @) Ale o) Vit
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When you travel in certain parts of India, you will notice red soil. What is the main reason for this colour ?

\i»Tio (B %30 T ]S Eimé Ti] E»[ L CMTE » g Jol aVFe e[k Jot A+ »lg » 1y EivS ¢ *
\[ETI N Yeili ]S Bl To] aERUiC ¢ o0t VRETE Y[* o0 [e o ¢CA[l ER[S s *
(A) Abundance of magnesium (B) Accumulated humus
Yl Yio]iS» 8]GiXkA] YEINT e=]iK
Y[ VO[] 8]Gixany] YEI\T c=]ia
(C) Presence of ferric oxides (D) Abundance of phosphate
AZivEl AJQ» =Yi@T ZURZl» YOI Ty
AZi[E AvaiQ[) =Y ZiadZi0| Yol Te

Which of the following Bollywood star has signed agreement with Election Commission of India as its national icon
in the run-up to 2014 Lok Sabha poll for spreading awareness about the importance of voting and urging people to
cast their votes ?
T » ABRXLX [ =Qi %NaXTit \poToo X[ %@G»  GTi 2024 JX» & cEia\p» aglipsS X[IXTE LXaglipSES ANl W p»
m»+u» i[0&™ aloGTi [ [Ud[) JiNb[™ écdk ?

XIA 8EiX [x =Qi %N\aXTi \GATI[ X[RiX %aMG[ agil 2014 aiX[| e[S XX LXagli[SiE: A\l VC[) m[f[
i[b&™ aleGTe [if LXT JNpi™l eX 2
(A)  Shahruk khan (B) AmirKhan (C) Salman khan (D) Imrankhan

“olF FXCelF RX %D RX%DD FX 3 FXa_TX FiX S FXFT[IX X

What is the full form of "EPIC" ?

“epict» afYS »Yal 1€ ? / "epicr Al afYS %U 1Ei ?

(A) Electoral photo Identity Card (B) Electoral photo Identity Copy

(C) Election to the parliament identity card (D) Every People's Identity Certificate

A clock is set right at 8 a.m. The clock gains 10 minutes in 24 hours. What will be the true time when the clock
indicates 1 p.m. on the following day ?

g 0y LT HQi» a]™ i % ¢ * HOIaik 24 HAET) 10 (JoX0BEE YO #NTA HOWORTL aYKaX 2 O [l [l 4TV
Yl AT aPEi a]™ X ¢ ?

aki,_ s 0TI HQ @] 8 &XC7y ¢ * HIQD 24 HOE™ 10 19808 AIGIN A MV Y[VX HIQATI VY[ 2 0 1AL TE[ P

a]A XE i cif| ?

(A) 48 min. past 12 (B) 38min.past12 (C) 28 min. pastl12 (D) 25 min. past12
12 [l 48 JX0 12 [pL 38 1]X0 12 [l 28 1]X0 12 [pL 25 1]X0
12 4[AL 48 X0 124[AL 38 7JXI 12 4[AL 28 X0 12 4[iL 25 X0
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32. Whatis true for Navagraha 2 / X[GC» [ii[ éolEOCanOQ £77 [ X]IGic]) éluay éEﬁQXXUﬁ £77
1. Itis the abode of Surya
+ M V[T [ XYoot s 00T Hel T [ +og @ aV[[Tef) LXT XeaYeQi +40[) H[*
2. The temple has nine Shiva lingams, representing the nine celestial bodies.
At AT X]) GeEi YTk g X 0 x™ [T Yocik™ /At JVA[) X[IGCAED YxTokeliel Bl X0 [T Oprdk*
3.  The old astrological and as‘;ronomlcal research Centre
+ Al Y»S aL|c><Tb c@ | Y] ALTTh ([Vies Gi[lbSp» AERV
A Y[dS; aLTTh® A[e Ll XT ([Vi[ Gi[lbS; aERv
4.  Temple was built by the Ahom ruler Rudra Singh
Ygict] »Ly oV xaec+ A+ T8 X]eS Bk
Uicq] [oLe [V vaec A+ JV[) X]iS EA[X
Choose the correct option : / £71 =Wl [pk = Clg £/ £71 =w[ili a[aK X(C f

A 1,2, 3and’4true B) 1, 2and’3 true (C) 2, 3and’4 true (D) 3,4and’1 true
1,2,3%» 4 £7 1,2 Y%l 3 £7 2,3 Y%l 4 £7 3,4 Y%l 1 £7
1,2,3A[e 4 £7 1,2Afes £ 2,3A[e 4 £ 3, 4A[e1E"

33.  Which Indian nationalist leader looked upon a war between Germany and Britain as gifted opportunity which would
enable Indians to exploit the S|tuat|on to their advantage ?
ﬂ » aEn@XLX »grY" aXT§+ L] o [ JLT | ol 7 Yot @JQWWXT » [ygaﬂ ﬂM abd ¢ a[S aiyG [ \[QXUXK ?
XA aERX [ieri™ aXTip LeJox! AUe [~ T8 ¢CA A L[ \e[ITIAV) GoliXTe LX| “a[S aiNG [i \[X ?
(A) D.VSavarkar (B) Jawaharlal Nehru (C) Subhash Chandra Bose (D) C. Rajagopalachari
101 N JpNwEip» Liex_¢_ el a\ib I [la e »LiGYe (!
Q0 N ag\i[EL LeCll ¢ axe[l a\] IV [a i [LGeYe (e[

34. Whyisthe b0|I|ng point of sea water greater than that of pure water ?
€ aGo YoXin =T) (eB (£ Yoy =T (eETEE; %M 2 / aiGi [ La_[ =Ti B [£ Li_[l =Ti_ceFi dUSED 4EIX &[0 2

(A) Seawater contains salt and other impurities  (B) Sea water is impure

aG ™ YT %S Yl %X7 YVBEL UGE ae» YQXY %Y imsipy
alGi[|[| L&_ [ Afle %Xi YVOE) Uik alGa[l[| L_ %Yx[oi[l
(C) Sea water contains more oxygen (D) Sea water contains minerals
alem YT %XWy i YorgdlX Ui alG»» YXITI PXL YWU Uggkd
alGa[|[] L& %IE) %0 gaLX UGdEi alGa[|[) La_ PXL YU UgEs
35. Raj Kapoor- Nargls starrer Chor| Chor| was inspired by which Hollywood classic ?
»LERY» Yol XoGJ %N\XIT, GAX]GFX AEEXFX ¢’ =(i x aX] » ¥iop YXYOST) écik 2
[ILECY[ Al XpGa Y%NXIT [ [ radX] ol aEX o =Qi raiX]; aUiE %XY@XST i 7
(A) Titanic (B) Blithe Spirit (C) ItHappened One Night (D) It'saWonderful Life
OipHOGHXE iU 1&ml) i GedYhi IX Xl i +L A YghivZi tZ0
(i XES (U &l i aciYhs CAX X ) +L A CNW[Zi 21
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36.  Which of the following hormones is responsible for the emotional states such as fear, anger and tension and a rise
in blood pressure and heart rate ?
Tﬂ » dEIXI o] (X Y%cd[GEi [0 04X\, Fe, Jooali oY, NblkY %l cld&VX [0 [ia[ Ve
[&MW@MMW mm []MEYMYMHMW[[MVY

(A)  Thyroxin (B) Somatotropin (C) Adrenaline (D) Oxytocin
Ugtingrj X 2] A0y X AQiiXe X Y01 g A0gnIX
Urti[loj X aat]callefbY X AQiiXx X %01 j liaX

37. What is the Olympic motto ?

T Sl 2

(A) State, Country, continent (B) Love, Peace Progress
YAV, A, eV 2Y], “ol, YG

(©) Faster, Higher, Stronger (D) Play, Peace Love
VIT, =0 "N iF -l 8Y]

38. Which of the following countries are involved in construction of "The Great Asian Highway" to connect Japan with
Europe ..........
LEYX» Yop 4= (Y8 ]ATeX "GO A QX ceHill (AIAX JeraQEn) X]eS» GTI QT
XIAJ[) 4EX LqYX UIED +=3iY YA "ACAX Jesa0E" XTEXD @l QT o

(A) Countriesin Asia and Europe (B) Countriesin Asia, Eu;ope and UNO
AU i Yopl +=BuY AXJ aV 1= a»gY Yl »{riaeH
A Afle +=[EY[ &V a]e t, +=i[AY[ &V a]c Afle [iriaeH
(C) Countriesin Asia, /Europe and Africa (D) Countrles in Asia, Europe and USA
AN, +=ixrY Yl %pZER» AV a]c AXKJ‘Q =Y Yo %é]X»E i» dV"a]e
CA, =iy Ale %yZER[ &V a]e =Y A[ Y ][ER] V" a]c
39.  Adiverging 1ens ................ J AFX %Yal & XK .. /A%MW@WL% ......................
(A) canform only erect images (B) can form only magnified images
E%wwwcwm B, ([T YT[ GPX Ei»
£l FiQrr YT GPX B[ EN (DNT YTl GPX E&[
(C) can form only virtual images (D) isthicker at the center than edges
iE8 %ad YVTH[I GPX Eiby YHITEED EERNIG YIEL “E
Ell %ad YiTu[f GPX Ed[| YUURED aERV\IG YollED 2]
40. The term CTBT is term associated with ............... / cteT Ee» GTILQT ? [ cTeT iEdaf @l LiQTi ?
(A) cengral Taxes (B) Trade sanctions (C) nuclearweapons (D) international Terrorism
GBI Eiy TffeTe efewm Yoo ](SYE! %@ YULyTE alkafiy
AERVIN i Tfifere sifowae YIS [E %d YLy TE alcallV
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‘General English

Fill in the blanks choosing the correct option.

41. My uncle livesabout .................... from here.
(A) adrive of an hour (B) anhour'sdrive (C) anhourdrive (D) an hourof drive
42. You'd rather stay at home tonight, ................. you ?
(A) didn't (B) hadn't (C) wouldn't (D) won't
43. lhopeyoudontmind................. sitting here.
(A) me (B) my (C) thatlmay (D) tobe
44. We'llgiveyouacaronceyou .................... your driving test.
(A)  will pass (B) are passing (C) bhave passed (D) passed
45. Bangladesh ..................... from an agricultural to a semi-industrialized country over the past two decades.
(A) Isevolving (B) hasevolved (C) evolved (D) hasbeen evolved
46. OnlyinEngland .................... make original willow bats.
(A) they (B) theycan (C) dothey (D) aretheyto
47. Had.................. some repentance, he might have been given a lighter sentence.
(A) itbeen (B) nothe shown (C) hebut (D) he shown
48. Pleasecomeandseeme .............cceeenen, day you like.
(A) some (B) every (C) any (D) all
49. Only on very rare occasions ........................ a visit to the college.
(A) the president would pay (B) the president pay
(C) would the president pay (D) would pay the president
50. You must give me a ring as soon as you .................. home.
(A)  willget (B) are getting (C) got (D) get
51. | look forward you again.
(A) tomeet (B) to meeting (C) formeeting (D) atmeeting
52. It'stime we some employment for ourselves.
(A) find (B) have found (C) must find (D) found
53. Heforbadeus........ enter the house.
(A) notto (B) to (C) donot (D) tonot
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Henolessthan!.................... to blame.

(A) is (B) am (C) are (D) have

He behavesasifhe ........................ my boss.

(A) is (B) was (C) were (D) hadbeen

Though Bonsai, a well -known art form, originated in China, itwas ........... by the Japaneese.
(A) cultivated (B) perfected (C) finished (D) borrowed

| beg to differ .......... you ......... the subject.

(A) with, on (B) to,at (C) from,in (D) at,to

Some students are .............. and want to take only the courses which have immediate value.
(A) theoretical (B) foolish (C) pragmatic (D) indolent
Neverput ................ till tomorrow what you can do today.

(A) of (B) off C) In (D) before

Ihave finished ..........ccoceeiiiiiicins of this book.

(A) three-fourths (B) three-fourth (C) three-fourpart (D) three-fours part

There is an English proverb which says, " Too many cooks spoilthe ................cccccceeeen.

(A) dish (B) curry (C) broth (D) feast
Bangladesh .......ccccccvvvivi From Pakistan in 1971.
(A) ceded (B) severed (C) seceded (D) succeeded

There are no secrets between us. Sheismy ..............ceeeeee
(A) confident (B) confidence (C) confederate (D) confidante

Substitute single words given in the options for the words underlined.

64.

65.

66.

67.

The Satanic Verses was condemned by certain Muslim clerics because of its irreverence towards Islam.
(A) anarchism (B) nepotism (C) blaspheme (D) militancy

Mr. Baruah is a person who is familiar with many different countries. Heis.........cccccccceen....

(A) animmigrant (B) acosmopolitan (C) an emissary (D) ausurer

A person sent on an official missioniis ......................

(A) an emissary (B) anambassador (C) a messenger (D) aspy
The teacher said to me," What do you have in your hands?" = The teacher asked me ........... in my hands.
(A) Iflhad (B) whatlhave (C) Whatlhadhad (D) whatlhad
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He said to me, "Which do you like better, this or that ?" =He askedme ................ | liked better.

(A) Ifthis or that (B) whether that or this (C) which of the two (D) whether which of the two
The judge should .................. by everybody in the court room.

(A) be referred as 'your Honour' (B) be referred to 'your Honour' as

(C) be referred to as 'your Honour (D) bereferred 'your Honour'

This course .............. giving its participants the power to recognize their strengths and pursue their aims.

(A) isaimed (B) aimsto (C) isaimedto (D) is aimed at

In the following questions you are required to find the most suitable word given in the options to replace both the words in

bold italics in the two sentences. Choose the option which can be used in place of the italicized words in both the

sentences.

71. ) I can not endure such a loud noise any more. ii) He preferred to consider the other view.
(A) Bear (B) position (C) sight (D) stand

72. (i) Ifeelscared when llook at the towering buildings.

(i)  Because of his arrogant behavior many people are offended with him.
(A) Haughty (B) high (D) proud (D) lofty

Choose the most suitable meaning of the following idioms (in italics) from the choices given below each sentence.

73.

74,

75.

76.

Many a time great ideas bite the dust for want of their proper publicity and projection.
(A) are humiliated (B) aretransferred (D) arestolen (D) arekilled

The team manager and the coach are trying to pass the buck on each other for the poor performance of their team.
(A) to shirk work (B) toblame somebody (C) toquarrel (D) to shift responsibility

He allowed his spiteful feeling to come to a head.
(A) To burst (B) Feelgiddy (C) Feelimpatient (D) Getexcited

The officer always keeps on throwing mud at his assistant.
(A) Heteases him all the time (B) He allots all the bad work to him
(C) He accuses him wrongly (D) He throws mud at him out of anger

In the following sentences you are required to find synonyms for the italicized word in the sentence. Choose the option

which best expresses the meaning in the context.

77.

78.

Your involvement with undesirable elements is bound to blemish your reputation as an upright man.
(A) disfigure (B) tarnish (C) mystify (D) brighten

The bomb blast mutilated the bodies of the victims.
(A) annihilated (B) demolished (C) mangled (D) dismantled
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In the following sentences you are required to find antonyms for the italicized word in the sentence. Choose the option

which best expresses the opposite meaning.

79.

80.

81.

82.

83.

84.

He has a morbid fear of dogs.
(A) diseased (B) unnatural (C) terrible (D) healthy

Human glory is ephemeral.
(A) temporal (D) temporary (C) everlasting (D) fleeting

A, B, C and D play a game of cards. A says to B, "If | give you 8 cards, you will have as many as C has and | shall have

3 less than what C has. Also, if | take 6 cards from C, | shall have twice as many as D has." If B and D together have

50 cards, how many cards has A got ?

A, B, C Y] D 4" Tifk YiTi 4 UGBTI A 8% B BB ™V T+ 4T¢]oE 8 FX EiQiV VC 8Tl 8T EiQ» agFie ¢ » a] U] &

EiQ» aeF ¢ TE 3 FX B " % T+ ™V ¢ » Y» 6 FXEQ _C aTali ] EiQ aeFit o » VmS ¢'[*"* AV B Yl D » ]P] EiQ»

aeFi; 50 ¢ 4TAU A » EiQ» agFi XE]cX ?

A B CA[EDT aaFa ULEi[] a]" A B g, "M %X] ATUiE: 8 0 EiQl &V+, TE[) aTe]e[) EidQ[ aeFi ¢ Al a]ek Afe %]l
EiQI[| aeFit c aUaE i3 ] ca[* %] "V c 4USE! 6 11 EieQi aX+, T[) %c]e[) EidQi[| aeFk VmS ¢l AV 8 C o A[| &]fiERQI[) agF:

50 ¢/, Ta[ A A[l EidQI[) aeFic BT cdf) ?

(A) 40 (B) 37 (C) 27 (D) 23

If the circumference of a circle is increased by 50%, then the area will be increased by :

MV ALl [ Yivalg s0 Tﬂg [yx Eivg ¢ 4Tal +"q» i — “Tee” [

MY AEO i [awl) Ye[ae s0 “Tie™ [0 TE[ +0gf By s “Tie [ H

(A) 50% (B) 100% (C) 125% (D) 225%

If '+' stands for 'division’, '— stands for 'equal to’, 'x' stands for 'addition’, '+ ' stands for 'greater than', '=' stands for

'less than', '>' stands for ‘'multiplication’, and '<' stands for 'subtraction’, then which of the following alternatives is
correct ?

AN 1K 008, = X @K, e KRG, -+ K Qe —ana»U >+ 11X YS %] <anan’\G[ch"aTaU T >>anan0@£ |7
A 1] "\IG, ' ] "R iX, e ik "°"cG = el "0 = ik ], > ded Y[ ADe< e (NG &[0, A YRI] X0 £

(A) 5+2x1=3+4>1 (B) 5>2x1-3>4<1 (C) 5x2<1-3<4x1 (D) 5<2x1+3>4x1

The traffic light at three different roads change after every 48 sec., 72 sec. and 108 second respectively. If they all
change S|multaneously at 8:20:00 hours, when will they change again simultaneously ?

T UER S0ZED o ™V YOT) a8 a8ERK, 72 8ER Y0l 108 cones itz st o1 S5 | M BIZESE6! Tt 8:20:00 &S ST
T (03 (P Zﬂfz' (20! wwl &Wb‘f Tyfer ©fox 2

TIXOOE Y0V 9% Ve [ UGkl BpZiEs o+ MV YIT: 48 aaiERQ), 72 4aiERQ Alle 108 cTees ot sfa e Beo | i safr @i
8:20:00 @ T @zﬁ—@r Wﬂ?{@% IR QN GET GIE ?
(A) 12:8:27 (B) 8:27:12 (C) 27:8:12 (D) None of these

AlC XcMAEIC XA
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1 1 1 - ~ ame Lo 1 a1 o)
How many = are therein 37 2 / 372 T 1ET]oX aeFiES 5 Yogak:  / 374l Ei™(i 5 Yoqdk: ?

(A) 300 (B) 400 (C) 500 (D) None of these
AliC XcAEIC XA

If point P is on line segment AB,"then which of the following is always true ? ,
M P [Val AB aeFT a T Uik aTaU T » aERXA aVi™ aTi o) 2/ e ([ as aeFia[IFe™ Uik, TH[) XIAH[) X0 a[V; aTi ¢} ?
(A) AP=PB (B) AP>PB (C) PB>AP (D) AB>AP

All men are vertebrates. Some mammals are vertebrates. Which of the following conclusions drawn from the above
statement is correct.
Joic+ ]V (B OX @XTYE™ a]» Vil ¢~ AT T » dEGXA0; =Np aTi ?
&Xb A] [Vl 1B QJX|Y [ A [V =Nme_[J =Y [ \iw E E £ =wo) X1% 4UIED 4[] Ei[*

(A) AII men are mammals (B) AII mammals are men ,
Fi_¢ Yolib+ BXIYeN /@i Too aixive FR ¢ XY+ Yol / B ixiveN Jixb
©) Some vertebrates are mammals (D) None

ERYOX 8]0l e XYM /B A [Vl ¢ @iXTYeN AliC Xc™ [ AEIIC XA

Five boys were climbing a hill. J was following H. R was just ahead of G. K was between G & H. They were climbing
up in a column. Who was the second ’)

YRILX Jekic: AdE! 4G Yoeo» [Gy O%pk_, 'Tia %0XawS B H El, G » akiFTIR, G Yl H JILT k* MV ATICE GE Al g»YéTt Yic

[1Ge+ Yook E T ﬂchTt dEX Yk ?

gJoLX XbAE I YoeeaQr =Pk _* 3%Xal[S B H iE* & A[ afiiF r* Al 1 A[ TViFEX <* MV Ci afck AR+ ([T YicQi
aQi, T X¥T (X 4K O%edke 7

(A) J (B) H ©) R (D) G

Consider the following flow chart for a customer

LTIV, 1 JlT) GeeE A0S WV Yaedkex | I8 AVICA, -l GeoaBi[) IS VTP Yok

Yes Yes

: WES Haz lza
START s |5 Married? » chidren? - child male? . —»
Mo ¥| Mo y| Mo
2
v
Mo Hasz ves lza Yes
4 ! children? * child male? 1

v Mo

3

The person in No. 1is: /1 aeFllii% [ALl [INDLX écak — / 1 Xe aeFipO&Ti [ [INbLX ¢ f-

(A) Married, with children (B) Married, with at least one son
([lveT, _»i-akedle | UE /o[i[ecTi, alic alnTi Ui XPPQXC'TJ, YTI Eﬁé]]C ALX Yy UEL
i{[peT:, % Ea]C ABILX akd_ Uik
(C) Unmarried, with at least one daughter (D) Unmarried, with at least one son
Yi[I[peTe, % EE]C ALX/ LA UE@ Y [[wcT, % E&]C ALX Yy UEL
il ch %Ti E]C ABILX 4]# U Y [wcT, YT E&]C ABLX #d_*
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Complete the series : / .. (A0t afYSEmf/ . ol YSE[ f
SCD, TEF, UGH, , WKL
(A) CMN (B) UJI (C) W (D) T

Which of the foIIowmg flgure fitsin to the place with questlon mark ?

T 8EiXa dy Y A[OED dichs PerTi el 2 1 XA B0 Y A[ANED el GiaX [ad[) ?

o&lﬁﬁ@@lﬁv
R 6 8 §

What number comes |nS|de the circle with question mark ’)

[iw> \NTioT: By Y [0 Wiy PorTHE [pe 2 /- [iwa]) NITA[ el Y 4[NED il X 163 el 2

@2
00000
0000000
00000
000
(A) 3 (B) 4 (C) 12 (D) 6
2,1,(1/2), (1/4), ......... What number should come next? / A+ 2 SYéOﬂQ» Y Y YVéOﬁC 1E) ¢ [}’ e SYU YUUTGP YVi(i «Ei C*é[{’ ?
(A) (1/3) (B) (1/8) (C) (2/8) (D) (1/16)
(856 +167)° + (856 —167)* _
856x856+167x167 T
(A) 1 (B) 2 (C) 689 (D) 1023

A number when divided by the sum of 555 and 445 gives two times their difference as quotient and 30 as the
remainder. The number s : ’

Al aeFiE 555 Y] 445 » #NGZi b ([\iLTEivi_ \iGZi_ aeFidiy VmS ¢/ Yo \Gi™h 30 ¢ aeFiiall ok ...
AR aeFiiE 555 Afle 445 A[l #%GZi ¥[r \eG B[ \tGZi_ aeFipdi[} mS ¢/ C \iGi b 30 ¢* @eFiplli ¢
(A) 1220 (B) 1250 (C) 22030 (D) 220030

Which of the following set of fractions are arranged in ascending order ?

T &EiXGlo \Goe ™ aeceT: I i Ti Yok 2/ XIAk[) &EiX \iGeed™ [ aecxTi YEIT: =Hfyii] ek 2

3'5'9'11'9 (B) 5'3'11'9'9 ©) 5'3'9'11'9 (®) 9'11'9'3'5
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A train starts full of passengers. At the first station, it drops one-third of the passengers and takes 280 more. At the
second station, it drops one-half of the new total and takes 12 more. On arriving at the third station, it is found to have
248 passengers. Find the number of passengers in the beglnnlng

Myl YS ii+X AFiX Myt YUn YU] arlIXT] A TTIAR™ Ayl X]ok WVa™ Yol XTIXGEI 280 LX Ayl TA* Tl ariXT: Yale™ X]o+ Yol
KT 22 LXTa_* T N0 X aYg%g» YT MY G@Q FXT ]RJ 248 & 1@ A, (0 S T W@ SFeyt fref 1 |
AEi() vy 1YS 2K A YaU[ YUR] 801" K AES Tie™ Ayl Xo ] 280 LX Ay IS =Pe™ T g0 8K XTIX Qi Ay Yellee ™38 Yo
12 LXeE =P™ T T M 400 8K GiQl &YIKedXe[) Y[ 4] 248%?151 SISICS anzm J@IRCE IQIF 747 F7efy 39
(A) 278 (B) 288 (C) 296 (D) 275

Kiran had 85 currency notes in all, some of which were of Rs. 100 denomination and the remaining of Rs. 50 denomi-
nation. The total amount of all these currency notes was Rs. 5000. How much amount did she have in the denomina-
tion of Rs. 50 ?

1EWS» T ]P] 85 FX EiGLI TV % i Tri» 'EKTiX 200 (EI 3601 90! [REHFIX 50 OB 8N AV YlibeFeX Ve 1ot &TICo c4TIT
5000 OGEQ i o/ 4TAl T ccTT 50 OGE gaXcO (EToXFX Y%k ?

(E[AS[ c4T 8100 85 10 EoGL! Ve York: ~q[) EBAEN 100 GoEi) £X Afle [oBiime_ 50 GeBie[* AV af[E™ 1V 75 Tu[) c4iTi s000 (il
Uik, Tﬂé[y" Ti[) ¢ 50 Oa'gEﬁc[y" X Eﬂ"xon Yogak: ?

(A) 4000 (B) 3500 (C) 3000 (D) 4200

1
At an International Dinner, 5 of the people attending were French men. If the number of French women at the dinner

was 5 greater than the number of French men, and there were no other French people at the dinner then what
fraction of the people at the dinner were not French ?

AFX ULy TE X 8\iL 4]_Ti=Yo@iT: UEQ]QXC» = 0™ Yolb JoKe: Zidaw* AV A\gLA] T =0T UE§ Ziga Jc:_(» aeFiy YoIbTEE:
%e‘ Ak o/ %) 96X 8EiX Zicaw ke XQ (&Ei 4T aTaU A\GLA]_Ti =Y'@iT! Ui (&]cK %e™ JoXe: Zidaw XA ?
AEO%c LoTiE eX~ 8\l YXGTu]Xab[y %e Zi[ra Y[ba *"XVeX a\gaL%[‘XQJ Zi[ial Jrc:_q[ aeFi Y[baUaE 2 o>

A o™ Alle daFeX %Xt &EiX Zifeal & @E I, TA[J =0Tt Uik} ETi %™ &_(Ei Zial| X ?
7
(A) g (B) g (® g (D) 15
If the manufacturer gains 10%, the wholesale dealer 15% and the retailer 25%, then find the cost of production of

a table, the retail price of which |s Rs. 1265 ?
MY AFX & X]eTi+ 109, YetEino a[ayiTet 159 Y] Fig 1[RyITet 2506 1XCZi =YiLX Eiby, Yaind ™V & _FX» i 11
1265 OoEgcf‘aT]aUﬂan[y FX» dYVX[|"XE]X° |
MV ABILX 80| YOTEG[ES 10% +EQ[) ([AyiTe 159, F[g ([RyiTe 259 (N EB[ Afle A abi_[| Fi[t 1.7 1265 OiFi
¢/, TA[) a0 =dYVX F[Ei

(A) Rs.1000 (B) Rs. 500 (C) Rs. 1200 (D) Rs. 800

XXXXXX
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